Q Marking instructions AO Marks Typical solution
Obtains e3 1.1b B1
8(a) May be seen anywhere Inx—Iny=3
Accept AWRT 20.1 x
Uses a law of logarithms In — =3
appropriately Y
or 1.1a M1 X o e?
Uses a rules of indices v
appropriately
Obtai =e3
ains x = e’y 1 1b Al x=ed
Subtotal 3
Q Marking instructions AO Marks Typical solution
8(b) Obtains a correct equation in x or
yonly
FT their answer to {a) provided it 1.1a M1 3t =10
does not involve logarithms erTy=
e 10
0@3 10 1+ es
Obtains x = 5 Ory = 5 1.1b Al
1+e 1+e 3
10e
r= 3
1+e
3
Obtains x = 12 andy= 2. | 1.1b A1
+e 1+e
Subtotal 3
Question 8 Total | 6






